Name: ______________________________

Test #2a – Math 233

Ch. 2 & §3.1-3.2

Spring 2004

Instructions:  The following exam may be completed with the use of a single 5" x 8" note card.  The card may not have any complete problems or definitions and must be handed in with the exam (please staple to the back).  You may use your calculator.  Please show all work neatly and clearly.  Please recall that a correct answer does not guarantee full or even partial credit; this is especially true with word problems.  For word problems, algebra must be used to achieve the answer and all variables must be defined and the equations used must be shown.  This test is designed to be an hour long.  The point value is 150 points, although the actual points may vary, and if so they will be scaled to 150, using percentages.  Good luck!
1.  Solve for y:

1/5 y  (  4(y + 1/3) =  6y  (  5(1/5 y  ( 1/15)

2.  Solve and graph:

 4x  +  4   (  -4





       6

3.  Solve and give the solution set in interval notation:



x  +  2  (  4  and  -4x  <  12

4.  Find the solution set and give it in roster form:
|1/4 x  +  4|  =  |1/5 x  +  2|

5. Solve and give the solution set in interval notation:







|2x  ( 3|  <  5

6.  Solve and give the solution set in set builder notation:







|3x  +  5|  (  5

7.  Solve:




|x  (  3|  (  -2

8.  The length of a rectangle is 34 inches.  Find all possible values for the width if the 

      perimeter is at most 300 inches.

9.   Nina wishes to mix candy worth $1.38 a pound with nuts worth $2.10 a pound to get 

       8 pounds of a mixture worth $1.65 a pound.  How many pounds of nuts does she 

       need?  Do not solve.  Give all relevant info being used & the equation to solve.

10.  Gena invested her inheritance in 2 money market funds.  The 1st fund paid 8% interest 

       and the 2nd paid 12% interest per year.  If she invested $4000 more in the 12% 

       account than the 8% account and earned a total of $1,480 interest in one year, how 

       much did she invest in each account?  Do not solve.  Give a table of relevant values & 

       the final equation.

11.  Two cars start at the same point and travel in the same direction at average speeds of 

       40 miles per hour and 55 miles per hour.  How much time must elapse before they are 

       15 miles apart?  Give a table listing d, r & t.  Give the relationship that gives an 

       equation.  Give the equation that will solve the problem, but do not solve.

12.  Decide which of the following are functions.  State function or not a function for 

       each.

a)
{(-5, 4), (-5, 3), (3, -5)} 


b)
2

5



3





4

6



c)





13.  Graph the following on the graph provided.  Please give me a table of your 

       points and explicitly state your vertex.  Use at least 5 points & label them.





f(x)  =  1  (  |x|





14. Graph the following on the graph paper provided.  Please give me a table of your 

       points and explicitly state your vertex.  Use at least 5 points & label them.






f(z)  =  z2  +  2





15.  Solve the equation

a)  3(x  (  1)  =  -3(2  (  x)  +  5


b)   4x  +  12   =  x  +  3


            4

16.  Solve the equation for y:


2x  +  3y  =   7

EC:  Solve and graph the solution set:

5  <   7  (  2x   (  7





  



  3

EC 2:  Solve and give the solution set in simplest form:



-5x  (  5  (  10  or  2x  (  4

y





x





5





-5





15





-15





f(x)





x








z








f(z)
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